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#include <stdio.h>
int main(void){
double salary=0.0, salary2=0.0;
char ch;
do{
printf("ﬁE?J L
salary=0;
do{
ch=getchar();
if(ch<='9'&&ch>="0")
salary=salary*10+(ch-'0");
else
break;
Jwhile(1);
if(ch=="n"){
printf("%f%#ﬁfj: %f\n", salary);
if(salary<50000)
if(salary*1.03<50000)
salary2=salary*1.03;
else
salary2=50000;
else
salary2=salary;
printf("FFErx: %f\n", salary2);
}else if(ch>="A'&&ch<='Z")
break;
Jwhile(1);
printf("ﬁﬂﬁj7 Adi i .An");

return O;
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#include <stdio.h>
int main(void){
double salary=0.0, salary2=0.0, sum=0.0, bonus=0.0;

char ch;
do{
printf("ﬁﬁa’?J‘ FHp ")
salary=0;
do{
ch=getchar();
if(ch<='9'&&ch>='0")
salary=salary*10+(ch-'0";
else
break;
Jwhile(1);
if(ch=="\n"){
printf(" 1:}% rJ %f\n", salary);
sum+= salary
if(salary<50000)
if(salary*1.03<50000)
salary2=salary*1.03;
else
salary2=50000;
else

salary2=salary;
printf("S&Hr=: %f\n", salary?2);
bonus+=(salary2-salary);
printf("salary: %f, bonus: %f \n", sum, bonus);
}else if(ch>="A'&&ch<='Z")
break;
Jwhile(1);
printf("ﬁﬁﬁ‘ Adiph.An");
printf("EEreY: %f, LE7up: %f, ‘;ﬁﬂjﬁ: %M\%\n", sum, bonus, bonus/sum*100);
return O;

}

Z ~FE &% (list node) MC#FE T T & AT ¢
typedef struct ListNode *ListNodePtr;
typedef struct ListNode

{
int Data;
ListNode Ptr Link;
bs
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(- )3 3% (function ) void InsertNode ( ListNodePtr Node, ListNodePtr *List) ¥ 1t #-
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)
#include <iostream>
using namespace std;

typedef class ListNode* ListNodePtr;
class ListNode{
public:

int Data;

ListNodePtr Link;

ListNode(){

ListNode(int Data, ListNodePtr Link){
this->Data=Data;
this->Link=Link;

¥

void InsertNode(ListNodePtr Node, ListNodePtr *List){
if(*List == NULL)
*List = Node;
else{
Node->Link="*List;
*List=Node;

}

void printList(ListNodePtr head){
while(head!=NULL){
cout << head->Data << " ";
head=head->Link;
}

cout << endl;

¥

int main(void){
ListNodePtr head=NULL;
ListNode t1(1, NULL), t2(2, NULL), t3(3, NULL);

InsertNode(&t1, &head);
printList(head);

InsertNode(&t2, &head);
printList(head);

InsertNode(&t3, &head);
printList(head);

return O;
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#include <iostream>
using namespace std;

typedef class ListNode* ListNodePtr;
class ListNode{
public:

int Data;

ListNodePtr Link;

ListNode(){

ListNode(int Data, ListNodePtr Link){
this->Data=Data;
this->Link=Link;

¥

void InsertNode(ListNodePtr Node, ListNodePtr *List){
if(*List == NULL)
*List = Node;
else{
Node->Link=*List;
*List=Node;

¥

void printList(ListNodePtr head){
while(head!=NULL){
cout << head->Data << " ",
head=head->Link;
}

cout << endl;

¥

int main(void){
ListNodePtr ListA=NULL, ListB=NULL, ptr=NULL;
ListNode t1(1, NULL), t2(2, NULL), t3(3, NULL);
ListA=&t1;
t1.Link=&12;
t2.Link=&t3;

while(ListA!=NULL){
ptr=ListA,;
ListA=ListA->Link;
ptr->Link=NULL,;
InsertNode(ptr, &ListB);

}

printList(ListB);

return O;
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= ~ ¥ 7] (array) float Revenue[10][12]zz4x7 = 27t & & B ? g 4o » 7% C/CH ~ CE
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(= )B - A28 H g gy
TEAR- e (104)
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:
)
#include <stdio.h>
int main(void){
float Revenue[10][12]={{100,100,100,100,100,100,100,100,100,100,100,100},
{200,200,200,200,200,200,200,200,200,200,200,200},
{300,300,300,300,300,300,300,300,300,300,300,300},
{400,400,400,400,400,400,400,400,400,400,400,400},
{500,500,500,500,500,500,500,500,500,500,500,500},
{600,600,600,600,600,600,600,600,600,600,600,600},
{700,700,700,700,700,700,700,700,700,700,700,700},
{800,800,800,800,800,800,800,800,800,800,800,800},
{900,900,900,900,900,900,900,900,900,900,900,900},
{1000,1000,1000,1000,1000,1000,1000,1000,1000,1000,1000,1000}};
inti, j;
for(i=1; i<10; i++){
for(j=0; j<12; j++){
printf("%7.2f%%",Revenuel[i][j]/Revenue[i-1][j]*100);

}
printf("\n");

return O;

¥
(<)

#include <stdio.h>
int main(void){
float s1=0, s2=0, s3=0, s4=0, total=0;
float Revenue[10][12]={{100,100,100,100,100,100,100,100,100,100,100,100},
{200,200,200,200,200,200,200,200,200,200,200,200},
{300,300,300,300,300,300,300,300,300,300,300,300},
{400,400,400,400,400,400,400,400,400,400,400,400},
{500,500,500,500,500,500,500,500,500,500,500,500},
{600,600,600,600,600,600,600,600,600,600,600,600},
{700,700,700,700,700,700,700,700,700,700,700,700},
{800,800,800,800,800,800,800,800,800,800,800,800},
{900,900,900,900,900,900,900,900,900,900,900,900},
{1000,1000,1000,1000,1000,1000,1000,1000,1000,1000,1000,1000}};
inti, j;
printf(" 57— % FHE\ETZ F FHAET S B FHEMETD IS FRIALE JEET\n");
for(i=1; i<10; i++){
s1=Revenuel[i][0]+Revenue[i][1]+Revenue[i][2];
s2=Revenue[i][3]+Revenue[i][4]+Revenue[i][5];
s3=Revenue[i][6]+Revenue[i][7]+Revenue[i][8];
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s4=Revenue[i][9]+Revenue[i][10]+Revenueli][11];
total=s1+s2+s3+s4;
printf("%.2A\t\t%.2f\t\t%.2A\t\t%.2f\t\t%.2f\n", s1, s2, s3, s4, total);

}

return O;

oy R PR R R 1 e & (Name ) z%ﬁ\%?r’k ( BaseSalary ) % 4¢ 5L §
(OvertimePay) » #* C++~Ct - Javas p 2 Emf238:3 2 ¢

(- )% &R 1 (Employee) #g%] (class) - & HprivateFAl= i & 7+t g1 p" gL, o2 HaE
-+ &3¢ (constructor) %@ 2 2= A AL o 4757 ¥ 7 - public® | &3 (member

function) ﬁp-,aTotalPay() T3 E Rk Tfreturnz o (104 )
(= )’\ PARE IR Y 3 Bar4e ¥ (DutyAllowance) - ¥k (inherit) R 1 #7% % <
(Manager) #w] @ 2 2 5 DutyAllowancez private T4 = i » HaEp+ b2 &
3= Name ~ BaseSalary ~ OvertimePay ~ % DutyAllowance » TotalPay() = B S ;8 ¥ 3+ &

i ok o (104 )

:
)
#include <iostream>
using namespace std;

class Employee{
private:

char Name[20];

int BaseSalary;

int OvertimePay;

public:

Employee(char Name[], int BaseSalary, int OvertimePay){
strcpy(this->Name, Name);
this->BaseSalary=BaseSalary;
this->OvertimePay=OvertimePay;

}
int TotalPay(){
return BaseSalary+OvertimePay;
}
X
=)

#include <iostream>
using namespace std;

class Employee{
private:

char Name[20];

int BaseSalary;

int OvertimePay;

public:

Employee(char Name[], int BaseSalary, int OvertimePay){
strcpy(this->Name, Name);
this->BaseSalary=BaseSalary;
this->OvertimePay=0vertimePay;

—-6--



(10158 - s tAEE |-

}
Employee(){
}
int TotalPay(){
return BaseSalary+QOvertimePay;
}
¥
class Manager: public Employee{
private:
int DutyAllowance;
public:
Manager(char Name[], int BaseSalary, int OvertimePay, int DutyAllowance): Employee(Name, BaseSalary,
OvertimePay){
this->DutyAllowance=DutyAllowance;
}
int TotalPay(){
return Employee:: TotalPay()+this->DutyAllowance;
}
j 3

int main(void){
Employee Rd("'john", 10000, 5000);
Manager Lead("tom", 30000, 10000, 5000);

cout << Rd.TotalPay() << endl;
cout << Lead.TotalPay() << endl;

return O;

I~F#D 5208 % %27 (array) DistrictName[20]% & & % 0% ¢ > "L5|Population[20]%
Br& ®end v g it * ASP.net » JSP#PHP :
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<%
String []DistrictName = {"A1","A2" "A3" "A4" "A5" "A6" "A7","A8",
"A9""AL10""Al1""A12","A13" "Al4" "A15","Al6","AL7" "A18" "A19" " A20"};
int [JPopulation = {1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20%;
out.printin(“<table border=1>");
out.printIn("<tr><th>DistrictName</th><th>Population</th></tr>");
for(int i=0;i<20;i++){

out.printin("<tr><td>"+DistrictName[i]+"</td><td>"+Population[i]+"</td><tr>");

}
out.printin(“</table>");

%>
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String [|DistrictName = {"A1""A2","A3" "A4" "A5" "A6","AT" "A8",
"A9""A10""A11","Al12" "A13","Al4" "Al5","Al16" "AL7" "A18","A19","A20"};
int []JPopulation = {1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20%;

int total=0;

out.printin("<table border=1>");
out.printIn("<tr><th>DistrictName</th><th>Population</th></tr>");

for(int i=0;i<20;i++){
out.printin('<tr><td>"+DistrictName[i]+"</td><td>"+Population[i]+"</td><tr>");
total+=Population[i];

}

out.printin("<tr><td></td><td>"+total+"</td><tr>");

out.printin("</table>");

-8--



